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Note: Attempt all questions and each question carries equal marks.
Q.1 (a) Find the approximate increase in the area of a circular disc if its diameter is

increased from 44 cm to 44.4 cm.
(b)  Evaluate the following indefinite integrals.
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Q.2 (a) Evaluate the following definite integrals.
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(b)  Find the area bounded by the curve ¥ = x¥ — 4x and the x-axis.
(c)  Solve the following differential equation:
xdy+y{x—1)dx =0

Q.3 (@ Show that

b
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(b) Evaluate (i) J+4—5x7dx (i)  [xPe®*dx
(c) Evaluate the integral:
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Find the interior angles of the triangle whose vertices are A(2,-5), B(-4,-3), C(-1,5)
Find the area of the region bounded by: 10x% —xy —21y?=0 and

x+y+1=0
Evaluate [ ﬁd% (x > a)

Find the point which is equidistant from the points A (5, 3), B (-2, 2) and C
(4, 2). What is the radius of the circumcircle of the AAE(?

Find an equation of the perpendicular bisector of the segment joining the
points A (3, 5), B (9, 8).

Find the general solution of the equation: :—i —x = xy°

Also find the particular solution if ¥y =1 when x =0

ASSIGNMENT No. 2
(Unit: 5-9)

Note: Attempt all questions and each question carries equal marks.
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Prove that the midpoint of the hypotenuse of a right triangle is the
circumcentre of the triangle.

A parabolic arch has a 100 m base and height 25 m. Find the height of the
arch at the point 30 m from the centre of the base.

Prove that the latus rectum of the ellipse Z—: + :;—; =1is
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Maximize the function defined as; f(x,y) =2x+3y subject to the
constraints:

2x +yv=8; x+ 2y =14, x =0, y=0

Show that the circles
x¥2+9y2+2x —2y -7 =0and x* + y? — 6x + 4y — 9 = 0 touch externally
Find the length of the chord cut off from the line 2x + 3y = 13 by the circle
x2+y?=126

For any point on a hyperbola the difference of its distances from the points
(2,2) and (10,2) is 6. Find an equation of the hyperbola.
Find equations of the tangents to the conic 9x2 — 4y? = 36 parallel to

Sx—2y+7=0

Q4 (a)
(b)

Prove that perpendicular bisectors of the sides of a triangle are concurrent.
If a+b+c=0, thenprovethat axb=bxc=cxa
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A force of magnitude 6 units acting parallel to 2i — 2j + k displaces, the
point of application from (1, 2, 3) to (5, 3, 7). Find the work done.

Show that
(i) 10xy+8x—15y—12=10 and
(i) 6x?+xy—y>—21x—8y+9=0
each represent a pair of straight lines and find an equation of each line.

Find the vector from the point A to the origin where AB = 4i— 2j and B is
the point (-2,5).
Find &, so that |ai + (o + 1)j + 2k| = 3



